
030414a (10 keV) / aluminum wire (0.3 mm)

0 76.5CT value (LAC), cm-1
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PP0 = 61.2 cm-1 / CW0 = 3.3 cm-1
PP1 = 41.4 cm-1 / CW1 = 75.9 cm-1
PP2 = 34.2 cm-1 / CW2 = 75.9 cm-1

030411h (15 keV) / titanium wire (0.2 mm)

0 178.5CT value (LAC), cm-1

0
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PP0 = 133.7 cm-1 / CW0 = 10.5 cm-1
PP1 = 134.4 cm-1 / CW1 = 11.9 cm-1
PP2 = 135.1 cm-1 / CW2 = 13.3 cm-1

030414b (20 keV) / titanium wire (0.3 mm)

0 84.15CT value (LAC), cm-1

0
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PP0 = 65.01 cm-1 / CW0 = 3.3 cm-1
PP1 = 34.65 cm-1 / CW1 = 83.49 cm-1
PP2 = 26.4 cm-1 / CW2 = 83.49 cm-1

030411i (15 keV) / nickel wire (0.025 mm)

0 510CT value (LAC), cm-1

0
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PP0 = 480 cm-1 / CW0 = 24 cm-1
PP1 = 482 cm-1 / CW1 = 30 cm-1
PP2 = 482 cm-1 / CW2 = 32 cm-1

030414c (20 keV) / nickel wire (0.05 mm)

0 326.4CT value (LAC), cm-1

0
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PP0 = 253.44 cm-1 / CW0 = 8.96 cm-1
PP1 = 253.44 cm-1 / CW1 = 8.96 cm-1

PP2 = 254.72 cm-1 / CW2 = 10.24 cm-1

030411j (25 keV) / nickel wire (0.025 mm)

0 142.8CT value (LAC), cm-1

0
51

72
pi

xe
ls

PP0 = 123.76 cm-1 / CW0 = 5.04 cm-1
PP1 = 123.76 cm-1 / CW1 = 5.04 cm-1
PP2 = 123.76 cm-1 / CW2 = 5.04 cm-1

030412b (25 keV) / nickel wire (0.05 mm)

0 175.95CT value (LAC), cm-1

0
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PP0 = 134.55 cm-1 / CW0 = 6.21 cm-1
PP1 = 135.24 cm-1 / CW1 = 6.9 cm-1
PP2 = 135.93 cm-1 / CW2 = 6.9 cm-1

030412c (25 keV) / nickel wire (0.1 mm)

0 173.4CT value (LAC), cm-1

0
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PP0 = 138.04 cm-1 / CW0 = 4.08 cm-1
PP1 = 138.04 cm-1 / CW1 = 4.08 cm-1
PP2 = 138.04 cm-1 / CW2 = 4.08 cm-1

030411g (15 keV) / copper wire (0.03 mm)

0 637.5CT value (LAC), cm-1

0
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PP0 = 540 cm-1 / CW0 = 15 cm-1
PP1 = 540 cm-1 / CW1 = 17.5 cm-1
PP2 = 540 cm-1 / CW2 = 20 cm-1

030414d (20 keV) / copper wire (0.03 mm)

0 318.75CT value (LAC), cm-1

0
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PP0 = 255 cm-1 / CW0 = 6.25 cm-1
PP1 = 255 cm-1 / CW1 = 6.25 cm-1
PP2 = 255 cm-1 / CW2 = 6.25 cm-1

030414e (20 keV) / palladium wire (0.05 mm)

0 229.5CT value (LAC), cm-1

0
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PP0 = 180 cm-1 / CW0 = 6.3 cm-1
PP1 = 180 cm-1 / CW1 = 6.3 cm-1
PP2 = 180 cm-1 / CW2 = 6.3 cm-1

030411f (15 keV) / silver wire (0.05 mm)

0 382.5CT value (LAC), cm-1

0
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PP0 = 361.5 cm-1 / CW0 = 9 cm-1
PP1 = 361.5 cm-1 / CW1 = 9 cm-1
PP2 = 361.5 cm-1 / CW2 = 9 cm-1


